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Appendix I 
Comments on document 
 

For wheel-chair accessible latrines: 
- Increase de latrine size to 6’x6’.  

o The toilet (toilet chair or other option) 
should be placed to one side of the space 
to allow movement inside 

- Increase door width to at least 2’11” (not including 
the frame) and make it open outward to have more 
space inside (a rope should be put inside to help 
closing from inside). 

- Plan a removable toilet chair or bench. Plastic or foam recovered by waterproof material. 
Better if back support. 

    
 
 
 
 
 
 
 

- Add an handrail beside the toilet (3’ high) 
- Add an access ramp: preferred slope 1:20 (5%). Minimum width: 0,90cm. 
- Plan slip-resistant ramp surface with adequate drainage at the bottom  

 
For all latrines (to make them accessible for crutches 
users): 

- Increase door width to at least 3’3” (1m).  
- Steps should be 15 cm to 18 cm high and not less 

than 28 cm deep. (OK on your design) 
- Add handrail on 

both sides of the 
steps, (3’ high- 
diameter of 40 
mm to 50 mm) 

- Add at least 1 handrail beside the toilet (3’ high).  
- Plan a slip-resistant ramp surface, as well as adequate drainage 
- Use contrasting colors to signal the steps to persons with visual 

impairments. 
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